Pierson v. Post:  Reading Comprehension Self-Quiz

Correct Answers, Comments & Explanations

Correct answers in bold type; Prof’s comments & explanations in Italics.

(1) According to the “declaration” filed in the case, who owned “the beach” where the fox was found?

(a) Pierson.


(b) Post.

(c) Nobody.  The declaration says Post found the fox “upon a certain wild and uninhabited, unpossessed and waste land, called the beach….”  In this context, unpossessed effectively means that nobody claims to own the land.

(d) The case does not say.

(2) According to the “declaration” filed in the case, why did Pierson kill the fox?

(a) Because foxes are pests who kill and eat farm animals. The dissent talks about this generally and the declaration does call the fox “noxious.” However, neither the declaration nor anything else in the case gives this as the reason Pierson acted.
(b) Because he also was hunting on the day in question. Nothing in the case tells us what Pierson was doing when he saw the fox hunt.
(c) Because he did not want Post to succeed in capturing the animal. The declaration claims that “Pierson, well knowing the fox was … hunted and pursued, did, in the sight of Post, to prevent his catching the same, kill and carry it off.  

(d) All of the above.
(3) Which of the following questions was decided by the majority opinion?
(a) Whether Post owned the fox when Pierson killed it? Post’s legal claim is that Pierson interfered with his property rights. The discussion about what acts by a hunter “amount to occupancy” of a wild animal is to determine whether Post had any property rights in the fox for Pierson to interfere with. The court decides he didn’t because all he had done was pursue the fox.
(b) Whether killing an unowned wild animal creates property rights in the animal?  The majority treats as a given that killing the animal creates ownership; it has to decide when less than killing or capture does so.
(c) Whether the verdict in the trial court was correct?  The majority does not discuss the verdict or the trial.  The procedural claim here is “that the declaration and the matters therein contained were not sufficient in law to maintain an action.” In other words, Pierson is claiming on appeal that, because the legal claims in the declaration were inadequate, the case never should have been allowed to go to trial in the first place.
(d) Whether Post had a reasonable prospect of capturing the fox when Pierson killed it? The dissent uses the “reasonable prospect” language and asserts that this was true of Post.  However, the majority does not address how likely Post was to succeed. Under its analysis, this would not seem to be a relevant question unless Post had done something more tangible to the fox than “mere pursuit.”
(4) Which of the following reasons did the majority opinion give to support its decision not to rely on English cases? This is the discussion in the paragraph on page 3 beginning, “It therefore only remains…”
(a) Some of the English cases were decided under legislative acts applicable in England but not in the U.S.  By “their positive statute regulations,” the court means legislation (statutes) passed by the British Parliament that no longer constituted legal authority in the U.S. after the American Revolution.
(b) Some of the English cases involved disputes between a hunter and the owner of the land where the animal was killed (as opposed to a dispute involving an animal killed on unowned land).  This is the reference to cases involving ratione soli, which we’ll go through in class in more detail.
(c) Both (a) and (b).
(d) Neither (a) nor (b).
(5) Which of the following beliefs is the source of the majority’s concern about “certainty” (expressed in the last paragraph on page 4)?  The long last sentence of the paragraph can be paraphrased and broken down roughly as follows:
IF the first person merely to see or pursue an animal 

(as opposed to trapping or wounding it



in a way that takes away its freedom AND



gives the hunter control over it)


would have a legal claim to the animal against others who caught and killed it,

THEN lots of quarrels and litigation would occur.
(a) It is too hard to tell when an animal has been deprived of its natural liberty.  The structure of the sentence means that majority believes that this standard is a more certain way to determine ownership than “first to pursue.”
(b) It is too hard to determine when actual bodily seizure has occurred.  The court doesn’t say this and, almost always, whether someone has physical possession of the animal’s body is easy to determine.  
(c) It is too hard to determine the limits prescribed by learned authors. The dissent says this in the paragraph at the top of page 6, but the majority does not seem to agree and does not refer to this type of confusion in the relevant passage.
(d) It is too hard to tell which of two disputing hunters first saw and started to pursue an animal.  The majority must believe that this is why the quarrels would arise:  One hunter says, “Even though you killed it, it was mine.  I saw and pursued it first.”  The other responds, “No, I did.”  Most of the time, it should be much easier to determine which person first killed or trapped or wounded the animal, both for the hunters at the time and for the legal system afterwards.
(6) According to the Majority opinion, which of the following creates ownership in an unowned wild animal?  

(a) Killing the animal. This is treated as given by everyone.

(b) Having the animal get caught in one of your traps.  This is what the majority means by “securing … animals with nets and toils,” which it says “may justly be deemed to give possession of” the animals to the trapper. (3d full paragraph, page 4).
(c) Mortally wounding an animal and continuing to pursue it. The majority says that this “may, with the utmost propriety [i.e., properly] be deemed possession of” the animal. (3d full paragraph, page 4).
(d) All of the above.
(7) Which of the following is true about a hunter who wounds an animal (but not mortally) and pursues it closely?
(a) Under Bracton and Fleta, the hunter does not own the animal. This is in the paragraph running from page 3 to page 4)
(b) Under the logic of the dissenting opinion, the hunter does own the animal.  If the dissent thought Post had done enough in this case, presumably adding a wound would only make a hunter’s case stronger.
(c) The majority opinion does not clearly indicate whether the hunter owns the animal.  In the last paragraph on page 4, the majority suggests that a hunter can get ownership by wounding animals in a way that “deprive[s] them of natural liberty and subject[s] them to the [hunter’s] control.  It does not use the word “mortal” here and some serious-but-non-mortal wounds might meet its standards.  Thus, I would conclude that the opinion leaves open the possibility that non-mortal wounds create property rights and so the statement is true.
(d) All of the above.
(8) In the third paragraph of the dissenting opinion, who does the judge refer to as a “saucy intruder”?
(a) A person who behaves as Pierson did. The “saucy intruder” is someone who steals the “object of pursuit” (the fox) from the intrepid fox hunters.

(b) A person who behaves as Post did.


(c) The fox. The judge calls it the “wily quadruped” (not the same thing at all! ()

(d) None of the above.

(9) In the fourth paragraph of the dissenting opinion, what does the phrase “defendant in error” mean?

(a) The defendant made a mistake by taking possession of the fox.  

(b) The authorities that support the defendant’s position are incorrect.

(c) The party who was the defendant in the trial below.
(d) The party who, on appeal, is defending against claims that the trial court made mistakes.  This is terminology you will learn to recognize.  Parties who appeal a court decision are adding an additional stage to the lawsuit by complaining that the lower court made one or more errors, so they are called plaintiffs-in-error.  Unsurprisingly, the party who then is forced to respond (and to defend the lower court’s actions) is called a defendant-in-error.
(10) Which of the following reasons does the dissenting judge provide for disagreeing with the result reached by the majority?

(a) He disagrees with the majority’s concern about certainty.  He never addresses this.
(b) The majority’s decision will result in fewer foxes being killed.  This is the thrust of the third paragraph of the dissent.  If you don’t sufficiently reward fox hunters, they will stop hunting (The last sentence here asks who would bother to do the hard work of hunting if they knew Pierson could come in at the last minute and take the fox.)  Presumably, if some of them stop hunting, more noxious foxes will remain on the loose.
(c) The ancient writers clearly support his position.  As noted above, he says on the top of page 6 that they don’t clearly support any one position.
(d) He disagrees with the majority about how likely Post was to have caught the fox if Pierson had not intervened.  The majority never expresses an opinion about this.
